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Note : This question paper consists of three Se'(;:ions -A, Band C.

SECTION - A

1. Very short answer type questions : 10x2=20

=

(i) Answer all the questions. e

Each question carries two marks.
If the length of the tangent from [2,5) to the circle x2+y?~5x+4y+k=0 is
J37 then find k. _ ‘
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Find the equation of the circie whose end points of a diameter are
(1, 2), (4, 6).

Find the equation of the common chord of the circles X2 +y?—4x—4y+3=0,
x4 y? —5x—6y+4=0.

Find the value of k if the line 2y=5x+k is a tangent to the parabola y?=6x.

If the eccentricity of a hyperbola is % _then find the eccentricity of its conjugate
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hyperbola. B
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9. Find [ sin'®xdx.
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10. Find the order and degree of the dlffef%?{?‘l a A2 dx
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ﬁ SECTION - B
- 5x4=20
n Short answer type questions
(iy Answer any five questions.
(1) Each question carries four marks.
/ﬂ./ Find the length of the chord intercepted by the circle x2 + 32‘8«‘5"25;-—8:0
on the line x+y+1=0,
E Find the radical centre of the following cjrcles.. :
2+y?—dx—6y+5=0, 2+y?-2x-4y—1=0, x3+y~—6x-2y=o
ntricity,

latus rectum, ecce

of directrices of the ellj se

_¥3. Find the length of major axis, minor axis,
coordinates of centre, foci and the equations

962+ 1612 = 144.
o] 2
at one end of a latys rectum of the ellipse *_ . ¥ _ 1 passes
; . SSes
- El“ b-.-
+ed=1 (e is the

147 If the normal
through one end of th
cccentricity of the ellipse).
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Pb/ Finiel the Cquations of the langents (o the hyperbola 4y’ =4 which .
(1) paralle) (i) Perpendicular to the line i 2y-0

€ minor axis, then show that e +
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17. Solve dlj " Y lan(y —y) = 1.
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SECTION - C

III. Long answer type questions : % 5x7=35
@
(1) Answer any five questions.
(ii) Each question carries seven marks.
187 Show that the circles x2+y2—6x—2y+1=0, x2+y>+2x—8y+13=0 touch

cach other. Find the point of contact and the equation of common tangent at
their point of contact.

/1‘{ If (2, 0), (0, 1), (4, 5) and (0, c) are concyclic then find c.

}Q./Prove that the area of the triangle inscribed in the parabola y?=4ax is

1
-Szf(yl = Y2)(Y2 — Y3)(ya — Y1) sa. units where Y1, Yo, Y are the ordinates of

its vertices.

/«Iﬁ)btain the reduction formula for jsin"xdx for an integer n>2 and deduce

fsjn Yxdx.
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227 Evaluate __:;.1_1_1 Erdi=s dx
3sinx +4cosx +5
p 1 log(l + x)
o Eyalilgte . %" 8F
/ . f“ 1+ x2

24. Solve /] 4 x* J} i .r;"f dx + xy dy = 0.
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